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PHYSICS SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes

Answer Sheet No.

Sig. of Invigilator.

(Revised Syllabus)

NOTE:

Section—A Is compulsory. All parts of this section are to be answered on the question paper Itself.

it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C 1 D. Each part carries one mark.

(i)

{ii)

(i)

(iv)

(V)

{vi)

(vii)

{vili)

(ix)

(x)

(i)

If F=0.08N and X=4cm then value of ‘K" is:

A 4Nm™' B. 0.2Nm™ C. 0.4Nm™
in a vacuum, all electromagnetic waves have the same:
A Amplitude B. Frequency C. Speed
One bel is equal to:
A 1000 dB B. 10dB C. 1dB
The S.| unit of intensity of sound is:
A Wm B. Wm™ C. Wm™
The instrument used to see the distant objects is called:
A Microscope B. Telescope C. Convex lens
The inner part of fibre optics is called:
A, Metal jacket B. Cladding C. Boundary
One pico farad (PF) is equal to:
A 102 F B. 1x10° F C. 11072 F
Capacitance is defined as:

4
A. C= % B. C= 2 c C=QV

The symbol of diode is:

A —D—
The S.1 unit of electromotive force is:

A Volt B. Joule C. Newtcon
The particles emitted from a hot cathode surface are called:

A. Positive ions B, Negative ions C. Protons
(xii)  The isotope ;1 contains:
1
A. One neutron B. Two neutrons C. No neutron
For Examiner's use only:
Total Marks:
Marks Obtained:
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PHYSICS SSC-lI
(Revised Syllabus)

Time allowed: 2:40 Hours : Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B If required. Write your answers
neatly and leglibly.

SECTION - B (Marks 33
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)

{i) Derive the relationship between wave-speed, frequency and wavelength.
(i) The intensity level of sound is 80 dB. What will be the intensity of sound?
(iii) Why is the voice of women more shrill than that of men?
(iv) In large shopping centres, convex mirrors are used for security purposes. Why?
v Why or why not concave mirrors are suitable for make-up?
(i) On which factors does the capacitance of a capacitor depend?
(vi)  Why do the leaves of a charged electroscope collapse if we touch its disc with a metal rod?
(vii)  Define Ohm's Law.
(ix) What is thermister? Also draw its graph between Resistance and Temperature.
(x) Why is an ammeter s always connected in series in order to measure current in a circuit?
(i) Define Faraday's law of Electromagnetic Induction. On which factors does the induced e.m.f. depend?
(xii)  What is super computer?
234
(xii)  Write Alpha decay process for 91’1“ .
(xiv)  If the refractive index of Ice is 1.31, find the critical angle.
(xv) What do the dark and bright fringes on the screen of ripple tank represent?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equai marks. " (2x10=20)
Q3 a What are the three basic radioactive decay processes and how they differ from each other? (08)
b. A step up transformer has a turn ratios 1:100. An alternating supply of 20 V is connected across
the primary coil. What is the secondary voltage? (04)
Q.4 a. Define Simple Harmonic Motion (SHM). Show that the motion of a mass attached to the end of a spring
is Simple Harmonic Motion. (06)
b. A resistor of resistance 5.6Q2 is connected to a battery of 3V by means of a wire of negiigible
resistance. If a current of 0.5A passes through the resistors calculate: (04)
() Power dissipated in the resistor

(i) Total power produced by the battery

Q5§ a Derive the formula for the equivalent capacitance for a series combination of a number of
capacitors. ' (086)
b. A capacitor holds 0.03 coulombs of charge when fully charged by a 6 volt battery. How much
voltage wouid be required for it to hold 2 coulombs of charge? (04)
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Answer Sheet No. @

Sig. of Invigliator.

------------------------------------------------------------------------------------------------------------------------------------------------------

PHYSICS SSC-lI
SECTION — A (Marks 12)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section—-A Is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i)

(ii)

(i)

()

v

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(i)

For Examiner’s use only:

$.1 unit of spring constant, "K” is:

A Nm B. Nm™ C. Nm™ D. N'm
What is the length of second’s pendulum?

A 1.02 cm B. 1.02 Km C. 1.02m D. 1.02 mm
Speed of sound in vacuum is:

A 280mS™ B. 332mS™ C. 210ms™ D. Zero
The Index of refraction depends on:

A The speed of light B. The image distance

C. The focal length D. The object distance

What is the refractive index of Ice?

A 1.31 B. 1.43 C. 2.21 D. 242
S.1 unit of charge is:

A Farad B. Joule per second

o} Joule D. Coulomb

The CRO screen gives light as a resut of bombardment by fast moving electrons. The CRO screen is:
A made up of Fluorescent B. Polished

C. Clear D. Rough

AND gate can be formed by using two:
A NOT gates B. OR gates C. NOR gates D. NAND gates
The direction of induced e.m.f. in a circuit is determined in accordance with law of conservation of;

A Energy B. Charge C. Mass D. Momentum
If turn ratio of a transformer is 100 then:

A I=100, B N=22 ¢ y120 5 y_F
100 N, 100
What does the term e-mail stand for?
A Extra mail B. Externai mail C. Electronic mait D. Emergency mail
236

One of the isotopes of Uranium is 9[21 . The number of neutrons in this isotope is:

A 236 B. 146 C. 142 D. 144

Total Marks: 12

Marks Obtained:
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PHYSICS SSC-li
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B' and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet l.e. Sheet~B if required. Write your answers
heatly and legibiy. '

SECTION ~ B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)
() What are damped oscillations? Discuss its one practical application.
(i) Calculate the intensity level of the faintest audible sound.

(iii) Differentiate between loudness and intensity of sound.

(iv) Why does the position of fish inside the water seem to be at less depth than that of its actual position?

(V) What is the difference between D.C(Direct Current) and A.C (Alternating Current)?

(vi) How many watt-hours are there in 1000 joules?

(wii) Define Thermionic emission and write two factors which can enhance the Thermionic emission.

(viii)  What s the difference between potential difference and electromotive force?

(ix) When a magnet is brought near the screen of a television tube, picture on the screen is distorted. Why?

() What is the effect produced on electrons beam when it passes through a uniform electric field?

(xi) Capacitor blocks direct current but allows alternating current to pass through a circuit. How does this
happen?

(xii)  What is the effect produced on Electrons beam when it passes through a uniform Magnetic field?

(xit)  Define Laws of refraction.

(xiv)  Noise is a nuisance. Explain.

(xv) Why is the driver's side mirror, in many cars, convex rather than plane or concave?

SECTION - C {(Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q3 a Define A.C. Generator, Draw a labelled diagram to illustrate its structure. Also write the working of the
A.C Generator. (08)
b. A convex lens of focal length 6 cm is to be used to form a virtual image three times the size of the
object. Where must the lens be placed? (04)
Q4 a Draw the ray diagrams of the following and also write their formulas of magnification: (06)
0] Simple Microscope
(i) Compound Microscope
(iii) Refracting Telescope
b. Cobalt-60 is a radioactive element with half-life 5.25 years. What fraction of the original sample
will be left after 26 years? (04)
Q.5 a Explain Nuclear Fusion reaction. (06)
b. At one end of a ripple tank 80 cm across, a 5Hz vibrator produces waves whose wavelength
is 40 mm. Find the time the waves need to cross the tank. (04)
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Roll No. Answer Sheet No. G

Sig. of Candidate. Sig. of Invigilator.
PHYSICS SSC-II
SECTION — A (Marks 12)
Time allowed: 20 Minutes | (Old Syllabus )

NOTE:- Sectlon—A Is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Cantre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option l.e. A/ B/ C/D. Each part carries one mark.

(i)

(H)

(iil)

(iv)

v)

(vi)

(vii)

(viif)

(ix)

(x)

()

{xii)

Unit of spring constant is Nm™ . It can also be written as:
B. Kg s* C. Kgs™ D. Kgls

If length of simple pendulum is halved, its time period T will become:

2

A Kgm

T T A
A L B. . c. 2T D. 2T
2 V2

image formed in convex mirror is always: .

A Virtual and inverted B. Virtual and upright
C. Virtual, upright and diminished D. Real, uprighi and diminished
~ The critical angle of water is: A
A. 42° B. 24° C. 49° D. 48°
An instrument used for viewing and photographing internal structures of the human body is called:
A Cystoscope B. Gastroscope C. Endoscope D. Branchoscope
Charge of electrons is equal to 1 coulomb.
A 6.25x10"® B. 6.25x10°
C. 16.25x10"* D. 16.25x10°

The distance between two point charges is 20 cm. If the distance is reduced to 10 cm, the
coulomb’s force would become:

A Half B. Two times C. One fourth D. Four times
Through which of the following electric current does not flow?

A Mica " B.  Plastic - C. Rubber D. All of these
When resistances are connected in series, the current passing through them is:

A Different B. Same C.  Zero D. Divided equally

A transformer has 100 turns in its primary coil and 500 turns in the secondary Coil. If 6 volts AC is
applied across its primary coil, voltage induced across its secondary coil would be:
A Zero volts B. - 30volts - C. 45 volts - D 60 volts

is a particle with mass equal to the mass of an electron, but possesses equal and
opposite charge.

A Positron B. Proton C. Neutron D. o ~particle
A good voltmeter should have resistance.
A Zero B Infinite C. 100 Q D. High

For Examiner's use only:

Total Marks: 12

Marks Obtained:
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Sig. of Candidate Sig. of Invigilator.
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2
PHYSICS SSC-li
(Old Sylabus )

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Sectlon ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and leglibiy.

SECTION — B (Marks 33

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines each. (11 x3=33)

(i) What is a wave? Define its types with one example each.

(i) While studying waves in a ripple tank, crests of the wave appear as bright lines and troughs
appear as dark portions. Why? Give reason.

(iii) Sound produced by sitar is loud if its wires are plucked violently. Why?

(iv) Where must objects be placed at different positions so that images formed by converging mirror are:
a. Formed between F and C
b. Erect
Draw ray diagrams for the cases {a) and (b) and write nature of image in both cases.

A7) On a hot summer day, the surface of a hot road way in the near distance may appear wet and
shiny as if after rain. Give reason.

(vi) During flight, the body of an aeropiane gets charged. How is the danger of sparking eliminated?

(vii) Define and briefly describe electron volt.

(viii)  What is the effect of temperatﬁre upon resistance of a conductor?

{ix) State Ohm's law. What are its limitations?

{x) a. Define Fleming's left hand rule.
b. When a current carrying cdnductor is piaced in a magnetic fieid, it experiences a force.
When will this force be Maximum and Minimum?

(xi) Define natural radioactivity and radioactive isotopes. Give exampies.

(xit)  Briefly explain “NAND" gate.

(xii)  What are radiation hazards? Give at least two precautions to minimize radiation dangers.

(xiv)  The half life of Radium is 1600 years. How much of 120 g of Radium will be left after 4800 years?

{xv) Define conductor and semiconductor. Give examples.

SECTION - C (Marks 20)
Note: Attempt any TWO questions. Ali questions carry equai marks. (2 x 10 = 20)

Q.3 a. Prove that mass attached to spring executes Simple Harmonic Motion. 06

b. Find the time periods of Simple pendulum of 1 meter iength, placed on Earth and on Moon.

The value of g on Moon is 3 th of its value on Earth. 04

Q.4 a State and explain total internal reflection and show n = prares 06
b. The focal length of a convex lens is 20 cm. Where should an object be placed so as to get

its virtual image magnified four times. 04

Q.5 a. State and explain nuclear fission reaction. 06

b. How is fission reaction controlied? 03

c. Give an example each for uncontrolled and controlled fission. ‘ 01

—28A 1507 (Old)}—
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